A C C E S8 8 O R

r.ra33 )

SYM SYMPHONY ST 50-125-200 EURO 5 2021
3420/EX - 3420/A - 3423/LS - 3420/BE  att. 3422/E

3420/EX 3420/A 3423/LS

Upper fixation on

handle
Upper bracket LH/RH 1+1
Grower @8 2
Flat washer @8x17 2
Bush g14xH16 2
Bolt M8x35 2
Lower fixation on
handle
Lower bracket LH/RH 1+1
Grower @8 2
) N Flat washer @8x17 2
LN Bush g14xH33 2
bolt M8x50 2

3420/BE

Gen-X® é un marchio registrato ! I'. =% .’

2 socket cone point grub screws to mark the plasti cover internally

F.FABBRI ACCESSORIs.r.l.
Via del Mangano 9 - 40023 Castel Guelfo di Bologna (BO) -
ITALY

Tel. 439 0542 670236 - +39 0542 670201
www fabbriaccessori.com - e-mail: info@f abbriaccessori.com

UPPER PART FIXATION

1) assemble bolt M8x35, grower, flat
washer, bracket and bush H=16 and
screw all in the mirror’s fixing room
loosely.

3) add and fix the mirrors on bracket
by provided nuts M8

LOWER PART FIXATION

1) assemblE bolt M8x50, grower, flat
washer, bracket and bush H=and
screw all in the mirror’s fixing room
loosely.

2) pre-assemble the screen fixing
system, center the screen and tighten
the hardware




